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Economics 
Ultra very short Answer Question 

 
    vfr vfry?kqmÙkjh; iz’u   100X1 

 1 vadh; iz’u 

 1 Marks Question 
Answer the following questions in one and Five words. 

  fuEukafdr iz’uksa ds mÙkj ,d ls ik¡p ‘kCnksa eas nsaA 
1. According to which economist Economics is the science of wealth? 

fdl vFkZ’kkL=h ds vuqlkj vFkZ’kkL= /ku dk foKku gS\ 

2. The word Mikros is derived from which word. 
ekbØkst ‘kCn dh mRifÙk fdl ‘kCn ls gqbZ gSA 

3. Write one important features of human want. 
Ekuoh; vko’;Drk dh ,d eq[; fo’ks”krk fy[ksa\ 

4. What is the shape of Production possibility curve? 
mRiknu laHkkouk oØ dh <+ky dSlh gksrh gSA 

5. Write any two branches of Micro Economics? 
O;f”V vFkZ’kkL= ds fdUgha nks ‘kk[kkvksa dk uke fy[ksaA  

6. ‘Price Machanism’ís the important feature of which Economic system? 
dher la;a= fdl vkfFkZd O;oLFkk dh eq[; fo’ks”krk gS\ 

7. What is Opportunity Cost? 
volj ykxr D;k gS\ 

8. Write any two problems of an economy? 
vFkZ'kkl= dh dksbZ nks leL;k;sa D;k gS\ fyf[k,A 

9. Which curve expresses central Problem? 
ml oØ dk uke crk,¡ tks dsUnzh; leL;k dks n’kkZrk gSA 

10. Which Economist has divided economics into Micro and Macro Economics? 
fdl vFkZ’kkL=h us vFkZ’kkL= dks O;fDr vkSj lefor vFkZ’kkL= esa ck¡Vk gSA 

11. Does Total utility always increase? 
D;k dqy mi;ksfxrk lnSo c<+rh gS\ 

12. What is Marginal utility? 
Lkhekar mi;ksfxrk D;k gS\ 

13. Is income effect positive for inferior goods? 
D;k fuEu oLrq ds fy, vk;k izHkko ?kukRed gksrk gS\ 

14. What is nature of demand for factors of productions? 
mRifÙk lk/kuksa ds ekax dh izdf̀r D;k gS\ 

15. What is the type of elasticity of demand for necessary goods? 
vko';d oLrqvksa dh ekax dh yksp D;k gksrh gS\ 

16. What is the shape of the perfectly inelastic demand Curve? 
iw.kZr;k csykspnkj ekax oØ dk vkdkj D;k gksrk gS\ 

17. Write one Cause of Economic problems. 
vkfFkZd leL;kvksa ds fdUgha ,d dkj.k dks fy[ksaA 

18. What is the necessary condition for consumer’s equilibrium under Indifference Curve Analysis? 
mnklhurk oØ fc’ys”k.k esa miHkksDrk larqyu dh vko’;d ‘krZ D;k gS\ 

19. Write the formula for Total utility. 
Dqy mi;ksfxrk dk lw= fy[ksaA 

20. National Income is the branch of which economics? 
jk"Vªh; vk; fdl vFkZ’kkL= dh ‘kk[kk gS\ 
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21. What is the turm used for an addition made to Total production by increasing one unit of a 

factor? 
Lk/ku dh ,d bdkbZ c<+us ij dqy mRikn esa gksus okyh ò̀f) D;k dgykrh gS\ 

22. What is known as short-run production function? 
VYidkyhu mRiknu Qyu dks D;k dgk tkrk gS\ 

23. What is Cost function? 
    Ykxr Qyu D;k gS\  

24. In perfect competition Average Revenue is equal to What? 
iw.kZ izfr;ksfxrk esa vkSlr vk;- fdlds cjkcj gksrh gS\ 

25. What is the necessary condition for firm’s equilibrium? 
QeZ ds larqyu ds fy, vko’;d ‘kÙkZ D;k gS\ 

26. Which point is known as Break Even Point? 
fdl fcUnq dks Lke&foPNsn fcUnq dgrs gSa\ 

27. State whether supply is more or less than stock, when price is low. 
;g crkb, fd de dher ij iwfrZ lVkWd ls vf/kd gksrh gS ;k deA 

28. Which term is used for Income Demand Curve? 
vk; ekax oØ dks fdl uke ls tkuk tkrk gS\ 

29. What are the two terms used in demand to show the movement on the demand Curve? 
ekax oØ ij lapyu dks fn[kkus ds fy, fdu nks ‘kCn dk iz;ksx djrs gSa\ 

30. Write the formula for finding Price Elasticity of demand? 
Ekkax dh dher yksp fudkyus dk lw= fyf[k,A 

31. Homogeneous goods are the important feature of which market? 
le:Ik oLrq,¡ fdl cktkj dh eq[; fo’sk”krk gS\ 

32. What is known as short – run price? 
y?kqdkyhu ewY; dks D;k dgrs gSa\ 

33. Cut – throat competition is the important feature of which market? 
xyk ?kksaV izfr;ksfxrk fdl cktkj dh eq[; fo’ks”krk gSA 

34. Who has given the Concept of Food Availability Decline theory? 
[kk+|kUu miyfC/k fxjkoV fl)kar dk izfriknu fdlus fd;k\ 

35. Is differentiated products associated with Monopolistic competition? 
 D;k foHksnhd`̀r oLrq,¡ ,dkf/kdkjh izfr;ksfxrk ls lacaf/kr gSa\ 

36. State whether fixed Cost is the important feature of short run or long run? 
;g crkb, fd fLFkj ykxr y?kqdky ;k nh?kZdky fdldh eq[; fo’ks”krk gSA 

37. State whether Costs are fixed or Variable in ong run. 
;g crkb, fd D;k lHkh ykxr nh?kZdky esa fLFkj gksrs gSa ;k ifjoÙkZu’khyA  

38. What is the slope of Average Revenue Curve in Monopoly? 
,dkf/kdkj esa vkSlr vkxe oØ dh <+ky D;k gS\ 

39. When is Marginal Revenue Zero? 
Lkhekar vk; dc ‘kwU; gksrh gS\ 

40. When is Marginal Revenue Negative? 
 Lkhekar vk; dc _.kkRed gksrh gS\ 

41. Who has given the Concept of true element in the determination of price? 
fdlus dher fu/kkZj.k izfØ;k esa le; oÙo dk fopkj izLrqr fd;k gS\ 

42. In which market firm is a ‘Price taker’? 
fdl cktkj esa QeZ dher izkIrdÙkkZ gksrk gS\ 

43. When is Average Cost at its minimum? 
dc vkSlr ykxr U;wure gksrk gS\ 

44. What is the shape of Average Cost Curve? 
vkSlr ykxr oØ dk vkdkj D;k gksrk gS\ 
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45. In which Economic system there is Co – existence of private as well as public sector? 

fdl  vFkZO;oLFkk esa futh ,oa lkoZtfud {ks= dk lg--&vfLrRo gksrk gSA 
46. According to which economist economics is a Normative Science? 

fdl vFkZ’kkL=h ds }kjk vFkZ’kkL= vkn’kZoknh foKku gSA 

47. Production and Price are related to which economics? 
mRiknu  vkSu ewY; dk laca/k fdl vFkZ’kkL= ls gS\ 

48. Who has propounded Indifference Curve Analysis of Consumer Behaviour? 
miHkksDrk O;ogkj dk mnklhurk oØ fo’ys”k.k fdlus fn;k\ 

49. What is the nature of land as a factor of production? 
Hkwfe mRiknu dk dSlk lk/ku gS\ 

50. What is utility? 
mi;ksfxrk D;k gS\ 

51. What form the flow of income is  ? 
  vk; dk izokg fdl izdkj dk gksrk gS\ 

52. Goods and services Flow from which to which direction? 
  oLrqvksa ,oa lsokvksa dk izokg fd/kj ls fd/kj dks gksrk gS\ 

53. Do the expenditure by buyers is equal to the receipt of sellers in circular flow of income? 
  D;k vk; ds pØh; izokg esa Øsrkvksa }kjk fd;k x;k O;; foØsrkvksa dks izfr;ksa ds cjkcj gS\ 

54. Write the names of four sectors of a modern economy. 
  ,d vk/kqfud vFkZO;oLFkk ds pkjksa {ks=ksa ds uke fy[ksaA 

55. What is the difference between NNPFC and GNPFC  ? 
  NNPFC rFkk GNPFC ds chp D;k varj gS\ 

56. Whether personal income is less than national income or greater than national income? 
  O;lfDrxr vk; jk”Vªh; vk; ls de gksrk gSA vFkok vf/kd\ 

57. Write down the relation between total product intermediary goods and value addition. 
  dqy mrikn e/;orhZ oLrq,W ,oa ewY; o/kZu ds chp laca/k dks fy[ksaA 

58. Does the income caused by sale and purchase of shares and bonds included in national income? 
  D;k ‘ks;j ,oa ck¡MksZ ds Ø; foØ; ls izkIr vk; dks jk”Vªh; vk; esa ‘kkfey fd;k tkrk gS\ 

59. Write down the components of profit. 
  ykHk ds la?kVdksa ds uke fy[ksaA 

60. Write three components of primary secter? 
  izkFkfed {ks= ds rhu la?kVdks ds uke fy[ksa\ 

61. What terme is used to express direct exchange of one commodity for another. 
  ,d oLrq ls nwljh oLrq dk izR;{k fofu;e dks D;k dgrs gS\ 

62. Who said this “Money is one thing that possesses “general acceptability? 
  Ekqnzk og oLrq gS ftls loZxzkg~;ark izkir gSA ;g fdlus dgk Fkk\ 

63. Credit money, commodity money, paper money and metallic money. Write them in sequence of 
development of money. 

  lk[k eqnzk] oLrqeqnzk] i= eqnzk rFkk /kkrq eqnzk bu lcdks eqnzk ds fodkl Øe esa fyf[k,A 
64. Write one primary function of money? 

  Eqknzk ds ,d eq[; dk;Z dks fy[ksa\ 
65. “”Money is what money does”Who said this ? 

   ^^ eqnzk og gS tks eqnzk dk dk;Z djrh gS ,slk fdlus dgk Fkk\ 
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66. By whom credit money is created? 

  lk[k eqnzk dk fuekZ.k fdlds }kjk gksrk gSA  
67. Write any one merit of a good money. 

  vPNh eqnzk ds fdlh ,d xq.k dks fy[ksaA 
68. Do standard money and token money have any difference ? 

  D;k izkekf.kd xqnzk ,oa izrhd eqnzk eas dksbZ varj gksrk gSA 
69. What type of relationship do CRR and credit multipler have? 

  CRR rFkk lk[k xq.kd ds chp fdl izdkj dk laca/k gksrk gS\ 
70. CRR is 5% then what shall be the value of credit multiplier?  

  vxj CRR 5% gS rks lk[k xq.kd dk ewY; D;k gksxkA 
71. Who is known as bankers bank ? 

  cSadks dk cSad dkSu gksrk gSA 
72. Who has the monopoly of issuing notes except one rupee note I’n India? 

  Hkkjr esa ,d :i;s ls vf/kd ewY; oxZ ds uksV tkjh djus dk ,dkf/kdkj fdls gS\ 
73. Bank rate is also known as what ? 

  cSad nj dks vkSj D;k dgk tkrk gS\ 

74. What is the name of Indias central bank? 
Hkkjr ds dsfUnz; cSad dk uke D;k gS\ 

75. Write the name of the committee constituted in 1990 to recommend improved customer services. 
  xzkgd lsok esa lq/kkj gsrq lq>ko nsus ds fy, 1990 esa fdl dfeVh dk xBu fd;k x;k\ 

76. What is expressed by ∆C  ? 
∆C  

  ∆C fdls iznf’kZr djrk gS\ 
∆C  

77. If MEC is greater than rate of interest then how the investment will be affected? 
  vxj MEC C;kt nj ls vf/kd gS rc fuos’k ij d;k izHkko iMs+xk\ 

78. Consumption (C) is the function of what? 
  miHkksx ¼C½ fdldk Qyu gS\ 

79. What type of relationship do MPC and multiplier have? 
  MPC rFkk xq.kd ds chp fdl izdkj dk laca/k gksrk gSA 

80.       What type of credit policy should be adopted by central bank of a country in case of excess 
demand? 
vfrjsd ek¡x dh n’kk esa ,d ns’k ds dsfUnz; cSad dks dSlh lk[k / _.k uhfr viukuh pkfg,\ 

81.  What is another name for NNPFC   
NNPFC  ds fy, nwljk D;k uke gS\ 

82.  What is measured by expenditure method? 
     O;; fof/k ls D;k ekik tkrk gS\  

83.  Do Cheques and bills are constituent of credit money? Yes or No? 
D;k psd rFkk fcy lk[k eqnzk ds la?kVd gSa\ gk¡ ;k ugha\ 

84.  What type of tax is income tax? Direct or indirect? 
vk;dj fdl izdkj dk dj gS\ izr;{k ;k vizR;{k\ 

85.  Direct foreign investment is included in which account? Capital or Current? 
izR;{k fons’kh fuos’k fdl izdkj ds [kkrs esa lkfey fd;k tkrk gS\ iwath [kkrk ;k pkyw [kkrk\ 

86.  Trade balance includes what type of items? 
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O;kikj ‘ks”k esa fdl izdkj dh enksa dks ‘kkfey fd;k tkrk gS\ 
 

87. Name the exchange rate which is determined by the demand and supply of money in 
international market? 
varjk"Vªh; cktkj esa eqnzk dh ek¡x ,oa iwfrZ }kjk Lfkkfir gksus okys fofue; nj dks fdl izdkj dh fofue; 

nj dgrs gSa\ 
88. What is known as the difference between total revenue and total expenditure?   

 dqy jktLo izkfIr;k¡ ,oa dqy O;; ds varj dks fdl uke ls tkuk tkrk gS\ 
89.  Do increase in capital receipts increases the govt’s liabilities? Yes or No?    
 D;k iwathxr izkfIr;ksa esa of̀) ls ljdkj dh ns;rk;sa c<+ tkrh gSa\ gk¡ vFkok ugha\ 
90.  What is another name for increase in general price level?  

lkekU; ewY; Lrj esa of̀) dks vkSj nwljs fdl uke ls tkuk tkrk gS\    

91.  What is termed as leakages in a two sector economy? 
,d f}{ks=h; vFkZO;oLFkk esa fjlko fdls dgrs gSA 

92.  In an open economy, Consumption+Investment+export –Inport is equal to What ?    
,d [kqyh vFkZO;oLFkk esa miHkksx$fuos’k$fu;kZr&vk;kr fdlds cjkcj gksrk gS ? 

93.  Which bank is at the apex of the banking system in India?  
Hkkjr esa cSafdx O;oLFkk ds ‘kh”kZ ij dkSu lk cSad gS\ 

94.  What is the basis of derived deposits ?   
O;qRiUu tekvksa dk vk/kkj D;k gksrk gS ? 

95. What is the full form of ‘ATM’   
 ATM dk iw.kZ :i D;k gS ?  

96. In Which year the first Narsinghan Committee was Consifulted ?   
izFke ujflage dfefV dk xBu fd o”kZ gqvk Fkk? 

97.  For what purpose goiporia committee was constituted ?  
  xksbiksfj;k dfefV dk xBu fdl mns’; ls fd;k x;k Fkk ? 

98. What type of budget is made during economic depression?  
vkfFkZd eanh ds le; fdl izdkj dk ctV cuk;k tkrk gSA 

99. What type of exchange rate was there in gold standard?   
 Lo.kZeku esa fdl izdkj dk fofu;e nj gksrk FkkA 

100. Who said this “The Balance of payments of a country is a record of the monetary transactions 
over a period with the rest of the World”  
“fdl ns’k dk Hkqxrku ‘ks”k fdlh fn;s gq, le; esa lkjs fo’o ds lkFk mlds ysu&nsu dk ys[kk gS”A ;g 
fdlus dgk Fkk ?     
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Economics 
izkjafHkd O;f”V vFkZ’kkL= 

Part-B 
Very Short Questions 

Marks – 100x2 
1. What is Consumption? 
 miHkksx D;k gS \ 

2. What is Normative Economics? 
 vknZ’koknh vFkZ’kkL++= D;k gS \ 
3. What is Production Possibility Curve ? 
 mRiknu lEHkkouk odz D;k gS \ 
4. What are the different types of Economic systems ? 
 vkfFkZd iz.kkyh fdrus izdkj dh gksrh gS \ 
5. Write two causes of the problem of choice. 
 Pqkuko dh leL;k ds nks dkj.kksa dks crkb,A  
6. What is the meaning  of  Economic problems ? 
 vkfFkZd leL;kvksa dk D;k vFkZ gS \ 
7. What is utility ? 
 mi;ksfxrk  ls D;k le>rs gaS \ 
8. What is the relationship between Marginal utility and Total utility ? 
 Lhekar mi;ksfxrk vkSj dqy mi;ksfxrk esa D;k lEcU/k gS \ 
9. What is Indifference Curve ? 
 mnklhurk odz D;k gS \ 
10. What is Marginal Rate of Substitution ? 
 Lkhekar izfrLFkkiu nj D;k gS \ 
11. What is Law of demand ? What do you mean by ‘ other things remaining the same.’ 
 Ekakx dk fu;e D;k gS \ vU; ckrsa leku jgsa dk D;k vFkZ gS \ 
12. What is giffen good ? 
 ^fxfQu oLrqvksa ls vki D;k le>rs gSa \ 
13. What are substitute goods ? 
 LFkkukiUu oLrqvksa ls vki D;k le>rs gSa \ 
14. What is Expansion of demand ? 
 Ekakx ds foLrkj ls D;k le>rs gSa \ 
15. What is elasticity of demand ? 
 Ekakx dh yksp ls vki D;k le>rs gSa \  
16. What is elasticity of demand for a necessary good ? 
 Tkc oLrq vko’;d gksrh gS] rc oLrq dh ekax dh yksp dSlh gksrh gS \  
17. Write the formula of percentage method for measuring elasticity of demand ? 
 izfr’kr jhfr }kjk ekax dh yksp Kkr djus dk lw= fyf[k, A 
18. Write the formula for measuring elasticity of demand straight line demand curve . 
 Lkh/kh js[kk okys ekax odz ij ekax dh yksp Kkr djus dk lw= fyf[k, A 
19. What is Average Production ? 
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          vkSlr mRiknu ls vki D;k le>rs gSa \  

20. What do you understand by Variable factors ? 
 ifjorZu’khy lk/ku ls vki D;k le>rs gSa \ 
21. When is total production maximum ? 
        dqy mRiknu dc vf/kdre gksrk gS aa\ 

22. Write stages of  Laws of Variable Proportion . 
 ifjoZru’khy vuqikr ds fu;e dh voLFkk,¡ fyf[k, A 
23. What is Variable costs ? 
 ifjorZu’khy ykxr ls D;k le>rs gSa \ 
24. What is Total cost and Marginal cost ? 
 Dqy ykxr vkSj lhekar ykxr D;k gS \ 
25. When AC falls, what is the behaviour of MC curve ? 
 Tkc AC odz fxj jgh gS rks MC odz dh fLFkfr D;k gksxh \ 

26. Wat is the difference between Average cost and Marginal cost ? 
 vkSlr ykxr vkSj lhekar ykxr esa vUrj Li”V dhft, A 

27. What is Marginal Revenue ? 
 Lkhekar vkxe D;k gS \ 

28. When Marginal Revenue is Zero, what is Total Revenue ?  
 Tkc lhekar vkxe ‘kwU; gS]rc dqy vkxe D;k gksxk \  

29. When Total Revenue of three units is Rs.24, and Marginal Revenue of 4th unit is Rs. 4, then what 
is the Average Revenue of four units. 
Tkc ,d oLrq dh 3 bdkb;ksa dk dqy vkxe 24 # gS vkSj pkSFkh bdkbZ dk lhekar vkxe 4 # gS]rks 4 

bdkb;ksa ds vkSlr vkxe dh x.kuk dhft, A  

30. When  does Total Revenue start declining ? 
 dqy vkxe dc ?kVuk izkjaHk dj nsrh gS a\ 

31. What is Producers’s Equilibrium ? 
 mRiknd ds larqyu ls D;k rkRi;Z gS \ 

32. What is Equilibrium Price ? 
 lUrqyu dher fdls dgrs gSa \ 

33. What are the conditions of Profit Maximisation ? 
 ykHk vf/kdre djus dh ‘krZs a D;k gSa \ 

34. What is profit ? 
 ykHk D;k gS \ 

35. What is supply ? 
 iwfrZ D;k gS \ 

36. What is the slope of supply curve ?  
 iwfrZ odz dk <yku dSlk gksrk gS \ 

37. What is law of supply ? 
 iwfrZ dk fu;e D;k gS \ 

38. When elasticity of  supply of a good is 0.8, indicate whether it is elastic or inelastic. 
 ,d oLrq dh iwfrZ yksp 0-8 gS A ;g iwfrZ ykspnkj gS ;k csykspnkj A 
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39. What are the factors influencing the Elasticity of supply ? 
 iwfrZ yksp dks izHkkfor djus okys rRo D;k gSa \ 

40. What is the meaning of Zero elasticity of supply ? 
 ‘kwU; ykspnkj iwfrZ dk D;k vFkZ gS \ 

41. What are important Elements of Market ? 
 Ckktkj ds eq[; rRoksa dks crykb, A 

42. What is Perfect Competiton ? 
 Ikw.kZ izfr;ksfxrk D;k gS \ 

43. What is the difference between Perfect competition and Monopoly with respect to  MR and AR ? 
 MR vkSj AR ds vk/kkj ij iw.kZ izfr;ksfxrk ,oa ,dkf/kdkj esa D;k vUrj gS \ 

44. What is Monopoly ? 
 ,dkf/kdkj D;k gS \ 

45. What are the conditions for Profit maximisation of a competitive form in the long term ? 
 nh?kZdky esa ,d izfr;ksxh QeZ dh ykHk vf/kdrehdj.k ‘krsaZ D;k gS \ 

46. Who determines price under Perfect Competition ? 
 Ikw.kZ izfr;ksfxrk esa dher dkSu fu/kkZfjr djrk gS \ 

47. What is shape of demand curve of a firm in Perfect Competition ? 
 Ikw.kZ izfr;ksfxrk esa QeZ ds ekax odz dh D;k vk—fr gksrh gS \ 

48. What is  the effect of decrease in demand on the price ? 
 Ekakx esa deh ls dher dSls izHkkfor gksrh gS \ 

49. What is derived demand ? 
 O;qRiUu ekax fdls dgrs gSa \ 

50. What is Rent ? 
 Ykxku D;k gS \ 
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UNIT I 
Part-B 

Very Short Answer Questions 
¼vfr y?kqmÙkjh; iz'u½ 

 
Marks - 2 Each 

51. What is macro economics  ? 
 Lkef”V vFkZ’kkL= D;k gS \ 

52. What are called producer goods ? 
 mRiknd oLrq,¡ fdls dgk tkrk gS \ 
53. What is gross investment ? 
 dqy vFkok ldy fofu;ksx D;k gS \ 
54. Define stock. 
 LVkWd dks ifjHkkf”kr djsa A 
55. What are capital goods ? 
 Ikw¡thxr oLrq,¡ D;k gS \ 
56. Define monetary flow . 
 ekSfnzd izokg dks ifjHkkf”kr djsa A 
57. What is called real flow ? 
 okLrfod izokg fdls dgrs gSa \ 
58. What is meant by open economy ? 
 [kqyh vFkZO;oLFkk fdls dgrs gSa \ 
59. Define private income ? 
 futh vk; dks ifjHkkf”kr djsa A 
60. When will GDP FC be less than National income ? 
  dqy ?kjsyq lk/ku vk; jk”Vªh; vk; ls dc de gksxh \ 

61. What is disposable personal income ? 
 oS;fDrd iz;ksT; vk; D;k gS \ 
62. What is ment by transfer payment ? 
 gLrkarj.k Hkqxrku ls vki D;k le>rs gSa \ 
63. Define primary sector of the economy . 
 vFkZO;oLFkk ds izkFkfed {ks= dks ifjHkkf”kr djsa A 
64. What is meant by income method of measurement of national income? 
 jk”Vªh; vk; ds ekiu dh vk; fof/k ls D;k rkRi;Z gS \ 
65. What is meant by ‘double co-incidence of works’? 
  *vko’;drkvksa ds nksgjs la;ksx* ls D;k rkRi;Z gS \ 
66. Name some of the functions of money . 
 eqnzk ds dqN dk;kassZ dk uke crk;aas A  
67. Define money. 
 Ekqnzk dks ifjHkkf”kr djsa A 
68. What are the features of commercial bank ? 
 O;olkf;d cSadksa dh fo’ks”krkvksa dks crk;sa A 
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69. What is meant by overdraft ? 
 vf/kfod”kZ ls D;k rkRi;Z gS \ 
70. Name different types of bank deposit accounts.  
 fofHkUu izdkj dh cSad tek [kkrksa ds uke fy[ksa A 
71. Define CRR ? 
 CRR dks ifjHkkf”kr djsa  A 
72. What is bank rate ? 
 cSad nj fdls dgrs gSa \ 
73. What is meant by credit control ? 
 Lkk[k fu;a=.k ls D;k vfHkizk; gS \ 

74. Define ‘clearing house’. 
Lkek’kks/ku x`̀g dks ifjHkkf”kr djsa A 

75. What is ‘banking onebudsman’ plan ? 
 cSafdax yksdiky ;kstuk D;k gS \ 

76. Write any two recommendations by first Narsimhan committee. 
 izFke ujflage dfeVh dh fdUgha nks flQkfj’kksa dks  fy[ksa A 

77. What is Capital Adequacy Ratio Criteria ? 
 iwath  i;kZIrrk vuqikr ekunaM D;k gS \ 

78. What is involuntary unemployment ? 
 vuSfPNd csjkstxkjh D;k gS \ 

79. Define effective demand. 
 izHkkoiw.kZ ek¡x dks ifjHkkf”kr djsa A 

80. What is investment demand schedule ? 
 fuos’k ek¡x vuqlwph D;k gS \ 

81. What is aggregate supply ? 
 Lkexz iwfrZ D;k gS \ 

82. Express the relationship between MPS and MPC . 
 MPS rFkk MPC esa laca/k crk;sa A 

83. What is an investment multiplier ? 
  fuos’k xq.kd D;k gS \ 

84. If value of the multiplier is 5, then what will be the impact of an increase of Rs.200 cr. in investment  on 
income ? 
;fn xq.kd dk ewY; 5 gS rFkk fuos’k esa 200 djksM+ dh o`̀f++) gksrh gS rks vk; ij D;k izHkko iM+sxk \ 

85. Express the relationship between MPC and investment multiplier by a formula.  
 ,d lw= }kjk MPC rFkk fuos’k xq.kd ds laca/k dks O;Dr djsa A 

86 What is meant by deficient demand ? 

 U;wu ek¡x ls D;k vfHkizk; gS \ 

87. Define trade cycles . 
 O;kikj pdzksa dks ifjHkkf”kr djsa A 

88. Write two main causes of excess demand ? 
 vfrjsd ek¡x mRiUu gksus ds nks egRoiw.kZ dkj.kksa dks fy[ksa A 
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89. Define inflationary gap ? 

LQhfrd varjky dh ifjHkk”kk nsa A 

90. what is meant by fiscal policy ? 
 ^jktdks”kh; uhfr ls D;k vfHkizk; gS \ 

91. What is monetary policy ? 
 ekSfnzd uhfr D;k gS \ 

92. Define budget. 
 ctV dh ifjHkk”kk nsa A 

93. Define indirect tax ? 
 vizR;{k dj dks ifjHkkf”kr djsa A 

94. What is a progressive tax rate ? 
 Ikzxfr’khy dj dh nj D;k gksrh gS \ 

95. What is meant by flexible exchange rate ? 
 Ykskp’khy fofue; nj ls D;k rkRi;Z gS \ 

96. How an exchange rate is called unfavourable ? 
 ,d fofue; nj izfrdwy dSls dgk tkrk gS\ 

97. What is the difference between trade balance and balance of payments ? 
 O;kikj larqyu ,oa Hkqxrku larqyu esa D;k vUrj gS \ 
98. Which are the invisible items in balance of payments ? 

Hkqxrku larqyu esa vn`̀’; en dkSu dkSu ls gksrs gSa \ 

99. Define capital account ? 
 iwath [kkrk dks ifjHkkf”kr djsa A 

100-   What is a fixed rate of exchange ? 
 fLFkj fofue; nj D;k gS \ 
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MODEL QUESTION 
ECONOMICS 

PART-C 
SHORT ANSWER QUESTIONS 

             3 Marks 
y?kqmÙkjh; iz’u 

1. What are different types of Economic activities? 
 vkfFkZd fdz;k,sa fdrus izdkj dh gksrh gS\  

2. Explain subject-matter of Economics. 
 vFkZ’kkL= dh fc”k;& oLrq dks le>k,A  

3. What are the causes of shift in Production Possibility Curve?  
 mRiknu lEHkkouk odz esa f[kldko ds dkj.kks dk crkb, \ 

4. What is an Economic Problem? Why does an Economic problem arise? 
 vkfFkZd leL;k ls D;k vfHkizk; gS \ vkfFkZd leL;k D;ksa mRiUUk gksrh gS\ 

5. What is Planned Economic system? 
 fu;ksftr vFkZO;oLFkk ls vki D;k le>rs gS\ 

6. What is utility? Explain three characteristics of utility.   
 mi;ksfxrk dk vFkZ ,oa mldh rhu fc’ks”krk,¡ crk,ssaA 

7. What is the difference between marginal utility and total utility? 
 LkhekUr mi;ksfxrk ,oa dqy mi;ksfxrk esa D;k vUrj gS\ 

8. What is Indifference Curve?Why it is convex to the origin?. 
 mnklhu odz fdls dgrs gS\ ;g D;ksa ew y fcUnq dh vksj vUUkrksnj gksrk gS\ 

9. What is law of Diminishing Marginal Utility?.  
 Lhekar mi;ksfxrk gkzkl fu;e D;k gS\  

10. What is law of Equi-Marginal Utility?  
 Lke lhekUr mi;ksfxrk fu;e D;k gS\  

11. Explain law of demand with the help of demand schedule.  
 Ekkax dh rkfydk dh lgk;rk ls ekax ds fu;e dks Li”V dhft,A 

12. Why does demand curve slope down words? 
 ekx odz dk <yku  _.kkRed D;ksa gksrk gS\ 

13. What is the Difference between substitute goods and complementary goods. 
 LFkkukiUu vkSj iwjd oLrqvksa esa D;k vUrj gS\ 

14. What are the causes of shifting of demand curve ? 
 ekax odz ds f[kldko ds D;k dkj.k gS\ 

15. What is price elasticity of demand? 
 Ekakx dh dher yksp D;k gS\   

16. What is point method to measure elasticity of demand? 
 fcUnq jhfr +}kjk ekax dh yksp fdl izdkj uki ldrs gS\  

17. Explain total expenditure method to measure elasticity of demand. 
 fdlh  oLrq dh ekax dh yksp ekius dh dqy O;; jhfr Li”V dhft,A 

18. What is Income elasticity of demand? 
 Ekakx dh vk; yksp ls vki D;k le>rs gS\ 

19. What are the causes of operation of Law of Variable Proportion? 
 IkfjorZu’khy vuqikr dk fu;e ykxw gksus ds D;k dkj.k gS\  

20. What is Production Function? What are its different types? 
 mRiknu Qyu D;k gS\ ;g fdrus izdkj dk gS\   

21. What is Marginal Production? 
 LkhekUr mRiknu D;k gS\  

22. What is Returns to Scale? 
 IkSekus ds izfrQy ls vki D;k le>rs gS\  

23. What is the difference between fixed cost and variable cost? 
 fLFkj ykxr vkSj ifjorZu’khy ykxr esa vUrj Li”V dhft,A 

24. Explain the relationship between Average Cost and Marginal Cost. 
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 vkSlr ykxr ,oa lhekar ykxr es lEcU/k Li”V dhft,A  

25. Why is short run average cost curve U-shaped? 
 vYidkyhu vkSlr ykxr odz U  vkdkj dh D;ksa gksrh gS\ 

26. Write about short period and long period costs. 
 vYidkyhu ,oa nh/kZdkyhu ykxrksa ds ckjs fyf[k,A 

27. What is Total Revenue, Average Reveune and Marginal Revenue? 
 dqy vkxe] vkslr vkxe vkSj lhekar vkxe ls D;k rkRi;Z gS\ 

28. What is the relationship between Total Revenue and Marginal Revenue? 
 dqy vkxe vkSj lhekar vkxe ds chp D;k dEcU/k gS\ 

29. What is the shape of AR curve and MR curve in Perfect competition, Monopoly and 
Monopolistic Competition? 

 iw.kZ izfr;ksfxrk] ,dkf/kdkj ,oa ,dkf/kdkjh izfr;ksfxrk esa vkSlr vkxe oØ vkSj lhekar vkxe oØ dk vkdkj dSlk gksrk 

gS\ 

30. Explain the concept of Marginal Revenue. 
 LkhekUr vkxe ds fopkj dks Li”V dhft,A 

31. What is firm’s equilibrium? 
 QeZ ds lkE;  ls D;k le>rs gS\  

32. If MR is more than MÇ,is it the position of maximum profit ? 
 ;fn lhekar vkxe lhekar ykxr ls T;knk gS] rks D;k ;g vf/kdre ykHk dh fLFkfr gS\ 

33. What is the sufficient condition for the equilibrium of firm? 
 QeZ ds larqyu dh iwjd ‘krZ D;k gS\  

34. Explain the firm’s equilibrium with the help of Marginal Revenue and Marginal Cost. 
 LkhekUr vkxe vkSj lhekUr ykxr }kjk QeZ dk lkE; dSls fu?kkfjr gksrk gS\ 

35. What is supply curve? What is its slope? 
 IwfrZ odz D;k gS\ bldh <ky dSlh gksrh gS\  

36. What is the difference between “ stock” and supply.? 
 fdlh oLrq dh iwfrZ ,oa LVkWad es D;k vUrj gS\  

37. What is law of supply? Explain with a diagram. 
 IwkfrZ ds fu;e D;k gS \ bls js[kkfp= ls le>k,A  

38. What are the causes of change in supply? 
 iwfrZ  esa ifjorZu ds D;k dkj.k gS\  

39. What are the factors influencing the elasticity of supply? 
 IwfrZ yksp dks izHkkfor dju okys rRo D;k gaS\ 

40. Write the formula of Percentage Method of Measurement of Elasticity of Supply. 
 iwfrZ  yksp ds ukius ds fy, izfr’krjhfr dk lw= fyf[k,A  

41. What are the elements of a market? 
 Ckktkj ds rRo D;k gS\ 

42. What is the difference between Perfect Competition and Monopoly? 
 iw.kZ izfr;ksfxrk vkSj ,dkf/kdkj es D;k vUrj gS\  

43. What are different types of market? 
 Cktkj ds fofHkUu izdkjksa dks Li”V dhft, A 

44. Firm is Price Marker in Monopoly. Why? 
 ,dkf/kdkj esa QeZ dher fu/kkZjd gksrh gSSAD;ks\  

45. Demand and Supply are like two blades of a scissor. 
 ekWx vkSj iwfrZ dSph ds nks Qyd gS\ le>k,A  

46. What is Market Price|? 
 Ckktkj ewY; D;k gS\  

47. What are the effects of simultaneous change in Demand and Supply on equilibrium price? 
 Ekk¡x rFkk iwfrZ esa ,d lkFk ifjorZu dk lUrqyu dher ij D;k izHkko iMrk gS\ 

48. What is the relation between Market Price and Normal Price? 
 Cktkj dher ,oa lkekU; dher esa D;k lEcU/k gS\  

49. What is interest? 
 O;kt D;k gS\  
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50. How is profit determined? 
 ykHk dk fu/kkZj.k dSls gksrk gS\  

 Answer the following questions       3 × 50 in 75 to 80 words 
 fuEukafdr iz’uksa dk mrj 75 ls 80 ‘kCnksa esa nsA  

51. What are the four main elements of macro economics? 
 Lkef”V vFkZ’kkL= ds pkj eq[; rRo D;k gS\  

52. Give two examples of interdependence of micro and macro economics. 
 O;fDr vFkZ’kkL= vkSj lef”V vFkZ’kkL= dh ijLij fuHkZjrk ds nks mnkgj.k nhft,\ 

53. Make a two sector circular flow model without financial system. 
 foÙkh; iz.kkyh ds fcuk nks {ks=h; PkØh; izokg ekWMy cukb,  

54. Write an equation regarding circular flow model which explains national income. 
 pØh; izokg ekMy ls lEcfU/kr ,d lehdj.k fyf[k, tks ns’k dh jk”Vh; vk; dk izdV djrh gS\  

55. Why flow of imcome is known as circular flow? What are the three parts of circular flow? 
 vk; ds izokg dks pdh; izokg D;ksa dgrsa gS\ vk; ds pdh; izokg ds rhu Ik{k dkSu&ls gSA  

56. What  is the difference between NNPmp and NNPFC?  
 Ckktkj dher ij ‘kq} jk”Vªh; mRikn rFkk lk/ku ykxr ij ‘kq} jk”Vªh; mRikn esa D;k varj gS\ 

57. Why NDPMP and NDPFC are not equal to each other? 
 NDPMP rFkk   NDPFC ,d nwljs ds cjkcj D;ks ugh gksrs\ 

58.       Write the equation to express the relation between personal income and disposable personal 
income. 

 oS;fDrd vk; rFkk oS;fDrd iz;ksT; vk; ds chp lEcU/k izdV djus okyk lehdj.k fy[ks\  

59. Express the problems of double counting? Write any one of the methods to avoid this problem. 
        nksgjh x.kuk dh leL;k dh C;k[;k djsaA blls cpus dk ,d ekxZ crkb,A 

 60. Explain in brief the steps taken by a firm to estimate value addition. 
 ,d QeZ dh ewY; c`̀f) dk vuqeku yxkus ds fy, tks dne mBk;s tkrs gS] mudk la{ksi esa o.kZu djsa 
61. What precautione are necessary in caleculation of national income by income method? 
 vk; fof/k }kjk jk”Vªh; vk; ekiu dh dkSu lh lko/kkfu;k¡ vko’;d gS\  

62. Explain with example the importance of avoiding double counting in calculation of GDP. 
 ?kjsyw mRikn ds ekiu esa nksgjh x.kuk dh leL;k ls cpus dk egRo mnkgj.k lfgr le>k,¡A  

63. Distingwish between primary sector and secondary sector . 
 izkFkfed {ks= rFkk f}rh;d {ks= esa vUrj crkb,\  

64. Write the meaning of APC and MPC. Can APC be Zero? 
 vkSlr cpr izo`̀fr vkSj lhekUr cpr izof̀r dk vFkZ crkb,A D;k vkSlr cpr izof̀r ‘kwU; gks ldrh gS\ 

65. What is meant by aggregate demand? Write any three of its components. 
 Lkkewfgd ekWax dk D;k vFkZ gS\ blds dksbZ rhu ?kVd crkb,A 

66. Explain AD and AS with the help of a diagram. 
 fp= dh lgk;rk ls lkewfgd ekax odz rFkk lkewfgd iwfrZ odz dh O;k[;k djsa 

67. What is effective demand? How will you get autonomous expenditure multiplier if price of the 
final product and rate of interest is given? 

 çHkkoh ekWax D;k gS\ tc vfUre cLrwvksa dh dher vkSj C;kt dh nj nh gqbZ gks ] rc vki Lok;r C;; xq.kd dSls izkIr 

djasxs\ 

68. Distinguish between full employment equilibrium and less than full employment equilibrium. 
 iwoZ jkstxkj ,oa viw.kZ jkstxkj lUrqyu es vUrj crkb,A 

69. How savings and investment are related to rate of interest (r) in classical theory of income and 
employment? 

 Dykfldy vk; rFkk jkstxkj ds fl)kUr esa cpr rFkk fuos’k fdl izdkj C;kt dh nj ¼ r½ ls lEcfU/kr gS\ 

70. Equality between savings and investment is inherent in equality between AD and As, explain it 
with equations. 

 lexz iwfrZ rFkk lexz ekax dh lekurk es cpr rFkk fuos’k dh lekurk Hkh fufgr gSA lehdj.kks }kjk Li”V djsaA 

71. Clarify the relationship between investment multiplier and MPC. 
 fuos'k xq.kd rFkk lhekUr miHkksx izo`̀fr es lEcU/k Li”V dhft,A  
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72. Explain the working of  multiplier with the help of a diagram. 
 ,d js[kkfpr dh lgk;rk ls xq.kd dssk dk;Zdj.k dk le>kb,A 

73. What do you mean by multiplies? Write in brief the favourable and unfavourable working of 
multiplier. 

 Xkq.kd ls vki D;k le>rs gS\xq.kd ds vuqdwy ,oa izfrdwy izfdz;k dks Li”V djsaA 

74. MPC = 0.75,DI=100cr. Calculate total increase in total income and consumption expenditure. 
 ,d vFkZO;cLFkk esa lhekUr miHkksx izc̀̀fr 0-75 gSA fuos’k esa 100 djksM- :Ik;s dh ò̀f) dh tkrh gS rks dqy vk; rFkk 

miHkkx O;; esa gksus okyh o`̀f) dh x.kuk dhft,A 

75. What do you mean by excess demand? Explain by a diagram. 
 vfrjsd ekax ls vki D;k le>rs gS\ js[kkfp= }kjk Li”V djasA 

76. Distiguish between inflationary and deflationary gap. 
 LQhfrd rFkk voLQhfrd vUrjky es vUrj crkb,A 

77. What is deficient demand? How it affects production and employment? 
 vFkZO;O;LFkk esa U;qUk ekWax D;k gS \ bldk mRiknu vkSj jkstxkj ij D;k izHkko iM+rk gS\ 

78. Excess demand shows inflationary gap: clarify. 
 vfrjsd ek¡x LQhfrd vUrjky dks crkrh gS Li”V djsa\  

79. Write comprative difference between methods of correcting deficient demand and excess 
demand. 

 U;qu ekWaaax ,oa vfrjsd ekaax dks Bhd djus ds mik;ksa esa ,d rqyukRed vUrj crk,¡A 

80. What is bank sate? How it affects availability of loans? 
 cSad  dj D;k gksrh gS\ bldk _.k dh miyC/krk ij D;k izHkko iM+rk gSA 

81. What do you mean by monetary policy? What are its main elements? 
 EkSfnzd uhfr ls vki D;k le>rs gS\ blds izeq[k mik; dkSu ls gS\  

82. Explain the sole of CRR in affecting the availabillty of laons. 
 _.k dh miyC/krk dks izHkkfor djus esa udn fjtoZ vuqikr dh Hkwfedk crkb,A 

83. What do you mean by barter system? What are its main conditions? 
 oLrq& fofue; iz.kkyh ls vki D;k le>rsa gS\ bldh vko’;d ‘krksZ dk o.kZu djsA 

84. Explain the static and dynamic functions of money. 
 eqnzk ds LFkSfrd ,oa xR;kRed dk;ksZ dk o.kZu djs\ 

85. Write down the properties of good money? 
 eqnzk ds xq.k crkb,A 

86. How money has removed the obstacles in barter system? 
 eqnzk us fdl izdkj oLrq fofue; dh dfBukb;ksa dks nqj fd;k gS\  

87. What is meant by open market operations? What are the basic conditions for its successh? 
 [kqys cktkj dh fdz;kvks ls D;k vfHkizk; gS\ bldh lQyrk dh vk/kkjHkwr ‘krksZ dk o.kZu djsA 

88. How central bank is different from commercial banks? 
 dsUnzh; cSd fdl izdkj O;kikfjd cSd ls fHkUu gksrk gS\ 

89.      What is the role of bank rate in credit control? 
 Lkk[k fu;a=.k esa cSd &nj dh D;k Hkwfedk gS\ 

90. What is the relationship between primary deposits and derived deposits? 
 çkFkfed tek ,oa O;qRiUu tek esa D;k lEcU/k gS\ 

91. What is meant by commercial banks? State its main features. 
 O;kikfjd cSd ls D;k vfHkizk; gS\ bldh izeq[k fo’ks”krk,¡ crk,¡A 

92. ‘The important functions of a commercial bank is to accept deposits and give loans’. Explain. 
 ,d O;kifjd cSad ds egRoiw.kZ dk;Z gSa& tekvksa dks Lohdkj djuk vkSj _.k nsukA le>kb,A 

93. When was second narsimahan committee constuted? What were its manin recommendations? 
 nwljh ujflege lfefr dc xfBr gqbZ\ bldh izeq[k flQkfj’ksa D;k Fkh\ 

94. What are the new diredtions of RBI regarding private sector banks? 
 futh {ks= ds cSad gsrq Hkkjrh; fjtoZ cSad ds D;k u;s fn’kk funsZ’k gaS\  

95. Write down any twon recommendations of Verma committee. 
 oekZ lfefr ¼1999½ dh fdUgh nks flQkfj’kksa dks crk,¡A 

96. Define Govt. budget. Write any four objectives of govt budget. 
 Lkjdkjh ctV dh ifjHkk”kk nsa\ bld dksbZ pkj eq[; mns’; crk,A 
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97. Is fiscal dificit essentially inflationary in nature? 
 D;k jktdks”kh; ?kkVk vko’;d :Ik ls LQhfrdkjh gS\ Li”V djsaA 

98. Distinguish between fixed and flexible exachange rate. 
 fLFkj rFkk yksp’khy fofue; nj es a vUrj crk;saA 

99. What is the Breton woods system of exchange? 
 fofue; dh czsVu oqM~l O;oLFkk D;k gS\  

100. Why balance of payments is always balanced?  
 Hkqxrku lUrqyu lnSo lUrqfyr jgrk gS] D;ks\  
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MODEL QUESTION 
ECONOMICS 

                         100 X5 
Part-D 

Long Answer Question 
nh?kZmÙkjh; iz’u 

1. What is Micro Economics? Explain its characteristics . 
 O;f”V vFkZ’kkL= D;k gS\ bldh fo’ks”krk,¡ crkb,A  

2. Economics is both Positive and  Normative science, Explain. 
 vFkZ’kkL= okLrfod vkSj vkn’kZkRed foKku nksuksa gSA le>k,A  

3. Explain the five central problems of an economy in brief.  
 ,d vFkZO;oLFkk dh lHkh ikapksa leL;k,¡ la>si esa crkb,A 

4. What is the effect of change in resources and change in technique on Production Possibility 
Curve? 

 Lkk/kuksa esa ifjorZu vkSj rduhdh esa ifjorZu mRiknu laHkkouk oØ dks dSls çHkkfor djrs gaS \ 

5. What is the relation between Marginal Opportunity Cost and Production Possibility Curve? 
 lhekar volj ykxr vkSj mRiknu laHkkouk oØ ds chp D;k lEcU/k gS\ 

6. Explain the difference between Market Economy and Controlled Economy.  
 cktkj vFkZO;oLFkk ,oa fu;ksftr vFkZO;oLFkk esa Hksn dhft,A 

7. What is law of diminishing marginal utility? Explain its importance and limitations. 
 lhekar mi;ksfxrk gzkl fu;e D;k gS\ blds egRo vkSj lhek,¡ crykb,A 
8. Explain Consumer’s Equilibrium with the help of Law of Equi-Marginal Utility. 
 lelhekar mi;ksfxrk fu;e dh lgk;rk ls miHkksxrk ds larqyu dks le>kb,A  

9. Explain consumer’s equilibrium with the help of Indifference Curve Analysis.  
 mnklhurk oØ fo’ys”k.k dh lgk;rk ls miHkksDrk larqyu dks le>kb,A  

10. Explain the Marginal Rate of Substitution. Why is Indifference Curve convex to the origin? 
 lhekUr çfrLFkkiu nj dh fopkj/kkjk dks le>kb,A mnklhurk oØ ewy fcUnq dh vksj mUurksnj D;ksa gksrk gS\ 

11. What is law of demand? What are its assumptions? 
 ekax dk fu;e D;k gS\ bl fu;e dh ekU;rk,s D;k gS\  

12. Explain Contraction and Extension of demand with the help of diagram. 
 ekax ds ladqpu ,oa foLrkj dks fp= }kjk le>kb,A  

13. What is demand? Explain the determinants of demand. 
 ekax D;k gS\ ekax ds fu/kkZjd rRo dks le>kb,A 

14. Explain the effects of following changes on the demand curve of a commodity ; 
 a) Increase in price of complementary goods. 
 b) Increase in price of substitutes goods. 
 fdlh oLrq ds ekax oØ ij fuEukafdr ifjorZuksa ds çHkkoksa dks le>kb,A 

 v½ iwjd oLrqvks dh dher esa òf) 

 c½ LFkkukiUu oLrqvksa dh dher esa of̀)A 
15. What is Price Elasticity of Demand? How is it measured? 
 ekax dh dher yksp ls D;k le>rs gaS\ bls dSls ekik tkrk gS\ 

16. What is the difference between Law of Demand and Elasticity of Demand? 
 ekax ds fu;e vkSj ekax ds yksp esa D;k vUrj gS\  

17. What are the factors affecting elasticity of demand? 
 ekax dh yksp dks çHkkfor djus okys rRo D;k gS\  

18. What are the different degrees of Price Elasticity of Demand? 
 ekax ds dher yksp dh fofHkUu Jsf.k;ksa dk o.kZu djsaA  

19. Explain the Law of Variable Proportion. 
 ifjorZu’khy vuqikr ds fu;e dh O;k[;k dhft,A 

20. Explain the difference between Laws of Returns and Returns to scale. 
 mRifUr ds fu;e vkSj iSekus ds çfrQy ds chp ds vUrj dks le>kb,A  

21. What are the causes of the operation of the Law of Variable Proportions. 
 ifjorZu’khy vuqikr ds fu;e ds ykxq gksus ds D;k dkj.k gS\ 
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22. Give a brief note of Law of Diminishing Return? Why does it operate? 
 mRifUr gzkl fu;e ij ,d laf>Ir fVIi.kh fy[ksaA ;g D;ksa ykxw gksrk gS\  

23. What is fixed cost? Explain the nature and shape of Total fixed cost and Average fixed cost. 
 fLFkj ykxr D;k gksrh gS\ dqy fLFkj ykxr vkSj vkSlr ykxr oØksa dh çÑfr vkSj vkÑfr dh O;[;k dhft,A 

24. What is Production Cost? What is the difference between Explicit and Implicit cost?  
 mRiknu ykxr ls vki D;k le>rs gS\ li”V vkSj vLi”V ykxrks eas D;k vUrj gS\ 

25. Explain the relationship between Average Cost Curve, Average Variable Cost and Marginal Cost 
Curve. 

 vkSlr ykxr oØ] vkSlr ifjorZu’khy ykxr oØ rFkk lhekUr ykxr oØ ds chp lEcU/k le>kb,A  

26. Explain the Production Cost in long period. 
 nh?kZdky esa mRiknu ykxrksa dks le>kb,A  

27. Explain the Average and Marginal Revenue Curves of a firm in Perfect Competition and 
Monopoly. 

 iw.kZ çfr;ksfxrk ,oa ,dkf/kdkj esa ,d QeZ ds vkSlr ,oa lhekar vkxe oØ dks Li”V dhth,A  

28. Explain the relationship between AR and MR with the help of examples. 
 AR rFkk MR ds chp lEcU/k dh O;k[;k mnkgj.k lfgr dhft,A 

29. Why does Average Revenue Curve become demand curve? 
 vkSlr vkxe oØ ekax oØ D;ksa\ le>kb,A 

30. In which market condition MR can be zero or negative? 
 fdl cktkj n’kkvksa esa lhekar vkxe ‘kwU; ;k _.kkRed gks ldrh gS\ 

31. What is firm’s equilibrium? Explain the necessary conditions of firm’s equilibrium. 
 ,d QeZ ds lkE; ls D;k le>rs gS\ QeZ ds larqyu dh vko’;d ‘kÙkksZ dk le>kb,A  

32. Explain firm’s equilibrium in perfect competition. 
 iw.kZ çfr;ksfxrk esa QeZ ds larqyu dks le>kb,A  

33. Explain firm’s equilibrium in Non-Perfect Competition.  
 xSj&iw.kZ çfr;ksxhrk esa QeZ ds larqyu dks le>kb,A 

34. Explain firm’s equilibrium with the help of Total Revence and Total Cost Curve method.  
 dqy vkxe ,oa dqy ykxr oØ jhfr }kjk QeZ ds larwyu dks le>kb,A  

35. Explain the factors affecting the supply of commodity.  
 iwfrZ dks çHkkfor djus okys rRoksa dh foospuk djsasA 

36. What is supply Schedule and ‘Supply Curve’? Explain with example and diagram.  
 “iwfrZ vuqlwph” ,oa “iwfrZ oØ” ls vki D;k le>rs gS\ mnkgj.k o js[kkfp= dh lgk;rk ls le>kb,A 

37. When and why there is a movement on supply curve? Explain. 
 iwfrZ oØ ij lapyu dc vkSj D;ksa gksrk gS\ le>kb,A 

38. Explain Individual Supply Curve and Market Supply Curve with the help of diagrams.  
 O;fDrxr iwfrZ oØ vkSj cktkj iwfrZ oØ dks lfp= le>kb,A 

39. What is Elasticity of Supply? Explain two method of its measurement.  
 iwfrZ dh yksp dks ifjHkkf”kr dhft,A blds ekiu dh nks fof/k;kW crkb,A 

40. The price of a commodity is Rs 10. And 500 units are supplied at the price. The price of this 
commodity reduces by 10%, and supply decreases to 400 units, what is elasticity of supply?  

 ,d oLrq dh 10: izfr bdkbZ dher ij 500 bdkb;ksa dh iwfrZ dh tkrh gSA ;fn bldh dher esa 10 izfr’kr dh deh gks 

tkus ls iwfrZ ?kVdj 400 bdkb;kW jg tk;s rks iwfrZ dh yksp D;k gS\  

41. Explain the role of time element in the determination of price in perfect competation. 
 iw.kZ çfr;ksfxrk esa ewY; fu/kkZj.k esa le; ds egRo dh O;k[;k djsaA 

42. What is monopoly? What are its important characteristics.  
 ,dkf/kdkj D;k gS\ bldh çeq[k fo’ks”krk¡a crykb,A 

43. Throw light on any five differences between perfect competition, monopoly and monopolist 
competiton .  

 iw.kZ çfr;ksfxrk] ,dkf/kdkj ,oa ,dkf/kdkjh çfr;ksfxrk ds fdUgh ikWp vUrj ij çdk’k MkyasA 

44. What is perfect competition? Discuss its important characteristics.  
 iw.kZ çfr;ksfxrk D;k gS\ iw.kZ çfr;ksfxrk dh eq[; fo’ks”krk,a D;k gS\  

45. What is equilibrium price? How is it determined? What is the meaning of excess of demand and 
how does it affect the price under perfect competition. 
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 oLrq dh Lkarqyu dher D;k gS\ bldk fu/kkZj.k dSls gksrk gS\ ekax vf/kD; dk D;k vFkZ gS] vkSj iw.kZ izfr;ksfxrk esa ;g 

ewY; dks dSls izHkkfor djrk gS\ 
46. What are the causes of change in supply of commodity? 
 iwfrZ esa ifjoZru ds D;k dkj.k gS\  

47. When there is increase in demand, what will happen to equilibrium price under the following 
situations. 

 tc ekax esa of̀) gks] rks fuEu ifjfLFkfr;ksa esa larqyu dher D;k gksxh\ v½ tc iwfrZ iw.kr;k ykspnkj gS c½ tc iwfrZ 

iw.kZr;k csykspnkj gS A 

48. What are the important causes of change in demand? 
 ekax esa ifjorZu ds eq[; dkj.k D;k gaS\  

49. What is the application of demand and supply Curves in price determination of factor?  
 Lkk/ku dher fu/kkZj.k esa ekax vkSj iwfrZ oØ ds mi;ksx dk o.kuZ djsaA 

50. What is Rent? What are the three types of elasticity of supply of factor? 
 yxku D;k gS\ lk/ku dh iwfrZ yksp ds rhu izdkj D;k gS\ 

51. Distingwish between micro and macro economics.  
 O;f”V ,oa lef”V vFkZ’kkL= ds chp varj Li”V djsaA 

52. Discuss importance of macro economics. 
 lef"V vFkZ’kkL= ds egRo dh ppkZ djsaA 

53. Explain features of the various sectors of a modern economy. 
 ,d vk/kqfud vFkZO;oLFkk ds fofHkUu {ks=dkssa dh fo’ks”krkvksa dk o.kZu djsaA  

54. Explain the importance of circular income flows.  
 pØh; vk; çokg ds egRo dk o.kZu djsaA 
55. Explain the circular flow in a four sector economy. 
 ,d pkj {ks=h; vFkZO;oLFkk esa pØh; çokg dks le>k;saA  

56. While calculating national income, what will you do with the following? Give reasons. 
 a) Imputed rent of self residing houses. 
 b) Interest earned on bonds. 
 c) Economic help to flood victims.  
 jk"Vªh; vk; dh x.kuk djrs le;] fuEukafdr dk vki D;k djsaxs\ 

 v½ Lo;a ds edku esa jgus okyksa ds edku dk vkjksfir fdjk;k] 

 c½ _.k i=ksa ij C;kt 

 p½ ck<+ ihfM+rksa dks vkfFkZd lgk;rk  

57 Calculate GNPMP, private income and personal income from the following data. 
 fuEukafdr leadksa ls GNPMP, futh vk; rFkk O;fÙkxr vk; dh x.kuk djsaA 

    Items     Rs.(Cr.) 
(i) GDPFc     300.00 
(ii) Income from domestic   200.00 

Product accruing to private sector 
(iii) Net current transfer from general govt   50.00 
(iv) Net indirect taxes      50.00 
(v) Net current transfers from rest of the world.   40.00 
(vi) Net factor income from abroad           (-)30.00 
(vii) Saving of private corporate section    25.00 
(viii) Corporate tax       05.00 

   

58. Explain different steps of calculation of national income by output/product method. 
 mRikn fof/k ls jk”Vªh; vk; ds ekiu esa fofHkUu dneksa dk o.kZu djsaA 

59. What is meant by the problem of double counting; explain. 
 nksgjs x.kuk dh leL;k ls D;k vfHkizk; gS\ o.kZu djsaA 

60. Explain expenditure method of calculation of national income. 
 jk"Vªh; vk; ds ekiu dh O;; fof/k dk o.kZu djsaA  

61. What will pappen to the following while calculating national income. Give reasons. 
 (i) Employees contribution to social security contributions. 
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 (ii) Pension after retirement. 
 jk”Vªh; vk; dh x.kuk djrs le; fuEukafdr dk D;k gksxk\ dkj.k crk;saA 
 v½ deZpkfj;ksa }kjk lkekftd lqj{kk ;kstuk esa va’knku 

 c½ lsokfuòfÙk ds ckn isU’ku dh çkfIr  

62. What is barter system? Explain its disadvantages. 
 oLrqfofue; ç.kkyh D;k gS\ bldh dfe;ksa dk o.kZu djsaA 

63. Explain all the functions of money. 
 eqæk ds lHkh dk;ksZ dk o.kZu djsaA  

64. “Money is the pivot at which economic science rotates”. Explain.  
 “eqæk og /kqjh gS ftl ij vFkZ’kkL= dk foKku pDdj dkVrk gSA” O;k[;k djsaA  

65. Explain the evils of money. 
 eqæk ds nqxZq.kksa dh ppkZ djsaA  

66. Discuss the importance of money. 
 eqæk ds egRo dh ppkZ djsaA  

67 Explain the brief primary functions of a commercial bank. 
 ,d O;olkf;d cSad ds eq[; dk;ksZ dk laf{kIr o.kZu djsaA 

68. What are the secondary functions of a commercial bank? 
 ,d O;olkf;d cSad ds xkS.k dk;Z dkSu&dkSu ls gSa\ 

69. What do you mean by credit creation explain with an imaginary example.  
 Lkk[k fuekZ.k ls vki D;k le>rs gS\ ,d dkYifud mnkgj.k nsdj o.kZu djsaA 

70. What is the role of commercial bank in the development of an economy. 
 ,d vFkZO;oLFkk ds fodkl esa O;olkf;d cSad dh D;k Hkqfedk gS\ 

71. Discuss some methods of credit control by the central bank. 
 dsfUæ; cSad }kjk lk[k fu;a=.k dh dqN fof/k;ksa dh ppkZ djsaA  

72. Explain important function of a central bank. 
 ,d dsfUæ; cSad ds eq[; dk;ksZ dk o.kZu djsaA  

73. Write about four to five difficulties in the way of credit control by the central bank. 
 dsfUæ; cSad }kjk lk[k fu;a=u ds ekxZ esa vkus okyh pkj ik¡p dfBukb;ksa dks fy[ksaA 

74. What is ‘bank rate’ ? How it helps to control credit? 
 cSad nj D;k gS\ ;g lk[k dks fu;af=r djus esa dSls enn djrk gS\ 

75. When was first narsimhan committee constituted? Discuss its recommendations in brief.  
 çFke ujflage~ dfeVh dk xBu dc gqvk Fkk\ bldh flQkfj’kksa dk laf{kIr fooj.k nsaA  

76. What reforms were brought in bãnking sector after Narsimhan Committees recommendations in 
1991? 

 1991 esa ujflage~ dfeVh }kjk dh xbZ flQkfj’kksa ds i’pkr~ cSafdx {ks= esa D;k lq/kkj yk;s x;s\ 

 
77. Why and when Goiporia Committee was constituted? What were its recommendations?  
 xksbZiksfj;k dfeVh dk xBu D;ksa vkSj dc fd;k x;k\ bldh flQkfj’ksa D;k Fkh\  

78. What was the purpose of constituting of Verma Committee? When was it constituted? What were 
its recommendations.  

 oekZ dfeVh ds xBu dk D;k mns’k~; Fkk\ ;g dc xfBr gqvk\ bldh flQkfj’ksa D;k&D;k Fkha\  

79. What reforms were brought in banking sector during 1992-2006? 
 1992&2006 ds chp cSfdax {ks= es D;k lq/kkj gq,\ 

80. Explain the concept of aggregate demand? what are the characteristics of aggregate demand? 
 Lkexz ek¡x dh vo/kkj.kk dks Li”V djsa\ lexz ek¡x dh D;k fo’ks”krk;sa gSa\  

81. What do you mean by aggregate supply? Explain with the help of suitable diagram. 
 lexz iwfrZ ls vki D;k le>rs gSa\ ,d mi;qDr fp= dh lgk;rk ls bls Li”V djsaA  

82. Explain with the help of suitable diagram the determination of income employment and output 
levels in the economy.  

 ,d mi;qDr fp= dh lgk;rk ls vFkZO;oLFkk esa vk;] jkstxkj ,oa mRiknu Lrjksa ds fu/kkZj.k dk o.kZu djsaA  

83. What is a consumption function can it be zero? Give reasons. 
 mi;ksx Qyu D;k gS\ D;k ;g ‘kwU; gks ldrk gS\ leqfpr dkj.k crk;saA 

84. What is Average Propensity to Consume? Explain with the help of table and diagram.  
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 vkSlr mi;ksx çof̀r D;k gS\ leqfpr rkfydk ,oa fp= dh lgk;rk ls o.kZu djsaA 

85. Explain the concept of MEC. How it is measured, 
 MEC dh vo/kkj.k dh O;k[;k djsaA bls dSls ekik tkrk gSA 

86. Explain the difference between ex-ante saving and investment and ex-post saving and 
investment.  

 fu;ksftr cpr ,oa fuos’k rFkk okLrfod cpr ,oa fuos’k esa varj dh O;k[;k djsaaA 

87. What are the main point of keynes’ theory of income and employment. 
 dhUl ds vk; ,oa jkstxkj fl)kar ds eq[; fcUnqvksa dks le>k;saA 

88. If national income is Rs 80 cr. and consumption expenditure is Rs 64 cr ; then calculate average 
propensity to save (APS). If income increases to Rs 100 cr and consumption expenditure 
increases to Rs 78 cr then calculate APC and MPC. 
vxj jk”Vªh; vk; 80 djksM+ : rFkk mi;ksxO;; 64 djksM+ : gS rc vkSlr cpr çof̀Ùk dh x.kuk djasA vxj vk; c<+dj 

100 djksM+ : gks tkrh gS rFkk mi;ksx O;; c<+dj 78 djksM+ : gks tkrk gS rc APC rFkk  MPC dh x.kuk djsaA 

89. How employment is determined by saving and investment?  
 cpr ,oa fuos’k }kjk fdl çdkj jkstxkj dk fu/kkZj.k gksrk gS\ 

90. Define investment multiplier. How it is related with marginal propensity to consume?  
 fuos’k xq.kd dks ifjHkkf”kr djsaA ;g fdl izdkj lhekar mi;ksx izof̀Ùk ls lacaf/kr gS\ 

91. Explain the forward and backward action of a multiplier. 
 ,d xq.kd ds vuqdwy ,oa izfrdwy izfØ;k dk o.kZu djsaA 
92. Explain inflationary gap with the help of a suitable diagram. How it affects prices and 

employment.   
 ,d mi;qDÙk fp= }kjk LQhfrd varjky dh O;k[;k djsaA ;g fdl izdkj eqY;ksa rFkk jkstxkj dks izHkkfor djrk gS\ 

93. What do you mean by deflation? Does it affect price and output? Give reasons. 
 vofLQfr ls vki D;k le>rs gS\ D;k ;g ewY; ,oa mRiknu dks izHkkfor djrk gS\ dj.k nsaA 

94. What is excess demand in an economy? How it can be cantrolled? 
 ,d vFkZO;oLFkk esa vfrjsd ek¡x dk D;k vfHkizk; gS\ bls dSls fu;af=r fd;k tkrk gS\ 

95. What is deficient demand? how it affects employment in the economy? How it is corrected? 
 U;wu ek¡x D;k gS\ ;g vFkZO;oLFkk esa jkstxkj dks dSls izHkkfor djrk gS\ bls dSls Bhd fd;k tkrk gS\ 

96. Distinguish between  balanced budget, surplus budget and deficit budget. 
 Lakrqfyr ctV] vkf/kD; ctV ,oa ?kkVs ds ctV dks Li”V dhft,A 

97. Explain with suitable examples progressive tax, proportional tax and regressive tax. 
 Lkeqfpr mnkgj.k ds }kjk izxfr’khy dj vkuqikfrd dj ,oa izfrxkeh dj dh O;[;k djsaA 

98. Explain the merits and demerits of a flexible exchange rate. 
 ,d yksp’khy fofue; nj ds xq.k &nks”kksa dk o.kZu djsaA 

99. What is an exchange rate? How it becomes favourable or unfavourable? 
 fofue; nj D;k gS\ ;g vuqdwy vFkok izfrdwy dSls gksrk gS\ 

100. What do you mean by imbalance in balance of payments? Discuss its causes and types. 
 Hkqxrku larqyu esa vlarqyu ls vki D;k le>rs gSa\ blds dkj.kksa ,oa izdkj dh O;k[;k djsaA 
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